The Australian Journal of Mathematical Analysis and Applications

AJMAA







FEKETE-SZEGÖ INEQUALITY FOR CERTAIN CLASS OF ANALYTIC FUNCTIONS

V. RAVICHANDRAN, MASLINA DARUS, M. HUSSAIN KHAN, AND K. G. SUBRAMANIAN

Received 10 July 2004; accepted 23 August 2004; published 9 November 2004.

SCHOOL OF MATHEMATICAL SCIENCES, UNIVERSITI SAINS MALAYSIA, 11800 USM, PENANG, MALAYSIA vravi@cs.usm.my

School of Mathematical Sciences, Faculty of Sciences and Technology, UKM, Banki 43600, Malaysia

maslina@pkrisc.cc.ukm.my

DEPARTMENT OF MATHEMATICS, ISLAMIAH COLLEGE, VANIAMBADI 635 751, INDIA

DEPARTMENT OF MATHEMATICS, MADRAS CHRISTIAN COLLEGE, TAMBARAM, CHENNAI- 600 059, INDIA kgsmani@vsnl.net

ABSTRACT. In this present investigation, the authors obtain Fekete-Szegö inequality for a certain class of analytic functions f(z) for which $\left(\frac{zf'(z)}{f(z)}\right)^{\alpha} \left(1 + \frac{zf''(z)}{f'(z)}\right)^{\beta} (\alpha, \beta \ge 0)$ lies in a region starlike with respect to 1 and symmetric with respect to the real axis. Also certain application of our main result for a class of functions defined by Hadamard product (convolution) is given. As a special case of our result we obtain Fekete-Szegö inequality for a class of functions defined through fractional derivatives. Also we obtain Fekete-Szegö inequality for the inverse functions.

Key words and phrases: Analytic functions, starlike functions, convex functions, inverse functions, subordination, coefficient problem, Fekete-Szegö inequality, fractional derivatives, Hadamard product (or convolution).
 2000 Mathematics Subject Classification. Primary 30C45.

ISSN (electronic): 1449-5910

^{© 2004} Austral Internet Publishing. All rights reserved.

The research of V. Ravichandran and Maslina Darus are respectively supported by a post-doctoral research fellowship from Universiti Sains Malaysia and a grant (09-02-02-0080-EA208) from IRPA, Malaysia.

1. INTRODUCTION

Let \mathcal{A} denote the class of all *analytic* functions f(z) defined on

$$\Delta = \{ z : z \in \mathbb{C} \text{ and } |z| < 1 \}$$

and \mathcal{A}_0 be the family of functions $f(z) \in \mathcal{A}$ normalized by the conditions f(0) = 0, f'(0) = 1. Such functions $f \in \mathcal{A}_0$ have the Taylor series expansion given by

(1.1)
$$f(z) = z + \sum_{k=2}^{\infty} a_k z^k \quad (z \in \Delta).$$

Let S be the family of functions $f \in A_0$ which are univalent. Let $\phi(z)$ be an analytic function with positive real part on Δ with $\phi(0) = 1$, $\phi'(0) > 0$ which maps the unit disk Δ onto a region starlike with respect to 1 which is symmetric with respect to the real axis. Let $S^*(\phi)$ be the class of functions in $f \in S$ for which

$$\frac{zf'(z)}{f(z)} \prec \phi(z), \quad z \in \Delta$$

and $C(\phi)$ be the class of functions in $f \in \mathcal{S}$ for which

$$1 + \frac{zf''(z)}{f'(z)} \prec \phi(z), \quad z \in \Delta.$$

These classes were introduced and studied by Ma and Minda [5]. The familiar class $S^*(\alpha)$ of *starlike functions* of order α and the class $C(\alpha)$ of *convex functions* of order α , $0 \le \alpha < 1$ are the special case of $S^*(\phi)$ and $C(\phi)$ respectively when $\phi(z) = (1 + (1 - 2\alpha)z)/(1 - z)$.

We now define a class of functions which unifies the class $S^*(\phi)$ and $C(\phi)$ in the following:

Definition 1.1. Let $\phi(z)$ be a univalent starlike function with respect to 1 which maps the unit disk Δ onto a region in the right half plane which is symmetric with respect to the real axis, $\phi(0) = 1$ and $\phi'(0) > 0$. A function $f \in \mathcal{A}$ is in the class $M_{\alpha,\beta}(\phi)$ if

$$\left(\frac{zf'(z)}{f(z)}\right)^{\alpha} \left(1 + \frac{zf''(z)}{f'(z)}\right)^{\beta} \prec \phi(z) \quad (0 \le \alpha \le 1).$$

It follows that

 $M_{0,1}(\phi) \equiv C(\phi)$ and $M_{1,0}(\phi) \equiv S^*(\phi)$.

Ma and Minda [5] obtained the Fekete-Szegö inequality for functions in the class $C(\phi)$ and in view of the Alexander result between the class $S^*(\phi)$ and $C(\phi)$, the Fekete-Szegö inequality for functions in $S^*(\phi)$. Similar problem for a class of Bazilevič functions was considered recently by Ravichandran *et al.* [8].

In the present paper, we prove the Fekete-Szegö inequality in Theorem 2.1 for a more general class of analytic functions which we have defined above in Definiton1.1. Also we give applications of our results to certain functions defined through Hadamard product and in particular we consider a class defined by fractional derivatives. Also we discuss the Fekete-Szegö inequality for the inverse functions.

To prove our main result, we need the following:

Lemma 1.1. [5] If $p_1(z) = 1 + c_1 z + c_2 z^2 + \cdots$ is a function with positive real part in Δ , then

$$|c_2 - vc_1^2| \le \begin{cases} -4v + 2 & \text{if } v \le 0, \\ 2 & \text{if } 0 \le v \le 1, \\ 4v - 2 & \text{if } v \ge 1. \end{cases}$$

When v < 0 or v > 1, the equality holds if and only if $p_1(z)$ is (1 + z)/(1 - z) or one of its rotations. If 0 < v < 1, then equality holds if and only if $p_1(z)$ is $(1 + z^2)/(1 - z^2)$ or one of its rotations. If v = 0, the equality holds if and only if

$$p_1(z) = \left(\frac{1}{2} + \frac{1}{2}\lambda\right)\frac{1+z}{1-z} + \left(\frac{1}{2} - \frac{1}{2}\lambda\right)\frac{1-z}{1+z} \quad (0 \le \lambda \le 1)$$

or one of its rotations. If v = 1, the equality holds if and only if p_1 is the reciprocal of one of the functions such that the equality holds in the case of v = 0.

Also the above upper bound is sharp, it can be improved as follows when 0 < v < 1:

$$|c_2 - vc_1^2| + v|c_1|^2 \le 2 \quad (0 < v \le 1/2)$$

and

$$|c_2 - vc_1^2| + (1 - v)|c_1|^2 \le 2 \quad (1/2 < v \le 1).$$

We also need the following:

Lemma 1.2. (cf. [13]) If $p_1(z) = 1 + c_1 z + c_2 z^2 + \cdots$ is a function with positive real part in Δ , then

$$|c_2 - vc_1^2| \le 2\max\{1; |2v - 1|\}.$$

The result is sharp for the functions

$$p(z) = \frac{1+z^2}{1-z^2}, \quad p(z) = \frac{1+z}{1-z}.$$

2. FEKETE-SZEGÖ PROBLEM

By making use of the Lemma 1.1, we prove the following:

Theorem 2.1. Let $\phi(z) = 1 + B_1 z + B_2 z^2 + B_3 z^3 + \cdots$. Let

$$\begin{split} \sigma_1 &:= \frac{2(\alpha+2\beta)^2(B_2-B_1) - [(\alpha+2\beta)^2 - 3(\alpha+4\beta)B_1^2}{4(\alpha+3\beta)]B_1^2},\\ \sigma_2 &:= \frac{2(\alpha+2\beta)^2(B_2+B_1) - [(\alpha+2\beta)^2 - 3(\alpha+4\beta)B_1^2}{4(\alpha+3\beta)]B_1^2},\\ \sigma_3 &:= \frac{2(\alpha+2\beta)^2B_2 - [(\alpha+2\beta)^2 - 3(\alpha+4\beta)B_1^2}{4(\alpha+3\beta)]B_1^2},\\ \gamma &:= (\alpha+2\beta)^2 - 3(\alpha+4\beta) + 4\mu(\alpha+3\beta). \end{split}$$

If f(z) given by (1.1) belongs to $M_{\alpha,\beta}(\phi)$, then

$$|a_{3} - \mu a_{2}^{2}| \leq \begin{cases} \frac{1}{4(\alpha + 3\beta)} \left[2B_{2} - \frac{B_{1}^{2}}{(\alpha + 2\beta)^{2}} \gamma \right] & \text{if } \mu \leq \sigma_{1}, \\ \frac{1}{2(\alpha + 3\beta)} B_{1} & \text{if } \sigma_{1} \leq \mu \leq \sigma_{2}, \\ \frac{1}{4(\alpha + 3\beta)} \left[-2B_{2} + \frac{B_{1}^{2}}{(\alpha + 2\beta)^{2}} \gamma \right] & \text{if } \mu \geq \sigma_{2}. \end{cases}$$

Further, if $\sigma_1 \leq \mu \leq \sigma_3$ *, then*

$$|a_3 - \mu a_2^2| + \frac{(\alpha + 2\beta)^2}{2(\alpha + 3\beta)B_1} \left[1 - \frac{B_2}{B_1} + \frac{\gamma B_1}{2(\alpha + 2\beta)^2} \right] |a_2|^2 \le \frac{B_1}{2(\alpha + 3\beta)}.$$

If $\sigma_3 \leq \mu \leq \sigma_2$, then

$$|a_3 - \mu a_2^2| + \frac{(\alpha + 2\beta)^2}{2(\alpha + 3\beta)B_1} \left[1 + \frac{B_2}{B_1} - \frac{\gamma B_1}{2(\alpha + 2\beta)^2} \right] |a_2|^2 \le \frac{B_1}{2(\alpha + 3\beta)}.$$

These results are sharp.

Proof. If $f(z) \in M_{\alpha,\beta}(\phi)$, then there is a Schwarz function w(z), analytic in Δ with w(0) = 0 and |w(z)| < 1 in Δ such that

(2.1)
$$\left(\frac{zf'(z)}{f(z)}\right)^{\alpha} \left(1 + \frac{zf''(z)}{f'(z)}\right)^{\beta} = \phi(w(z)).$$

Define the function $p_1(z)$ by

(2.2)
$$p_1(z) := \frac{1+w(z)}{1-w(z)} = 1 + c_1 z + c_2 z^2 + \cdots$$

Since w(z) is a Schwarz function, we see that $\Re p_1(z) > 0$ and $p_1(0) = 1$. Define the function p(z) by

(2.3)
$$p(z) := \left(\frac{zf'(z)}{f(z)}\right)^{\alpha} \left(1 + \frac{zf''(z)}{f'(z)}\right)^{\beta} = 1 + b_1 z + b_2 z^2 + \cdots$$

In view of the equations (2.1), (2.2), (2.3), we have

(2.4)
$$p(z) = \phi\left(\frac{p_1(z) - 1}{p_1(z) + 1}\right)$$

Since

$$\frac{p_1(z)-1}{p_1(z)+1} = \frac{1}{2} \left[c_1 z + (c_2 - \frac{c_1^2}{2}) z^2 + (c_3 + \frac{c_1^3}{4} - c_1 c_2) z^3 + \cdots \right]$$

therefore

$$\phi\left(\frac{p_1(z)-1}{p_1(z)+1}\right) = 1 + \frac{1}{2}B_1c_1z + \left[\frac{1}{2}B_1(c_2-\frac{1}{2}c_1^2) + \frac{1}{4}B_2c_1^2\right]z^2 + \cdots$$

From (2.4), we obtain

$$b_1 = \frac{1}{2}B_1c_1$$

and

$$b_2 = \frac{1}{2}B_1(c_2 - \frac{1}{2}c_1^2) + \frac{1}{4}B_2c_1^2.$$

A computation shows that

$$\frac{zf'(z)}{f(z)} = 1 + a_2 z + (2a_3 - a_2^2)z^2 + (3a_4 + a_2^3 - 3a_3a_2)z^3 + \cdots$$

and therefore we have

$$\left(\frac{zf'(z)}{f(z)}\right)^{\alpha} = 1 + \alpha a_2 z + (2\alpha a_3 + \frac{\alpha^2 - 3\alpha}{2}a_2^2)z^2 + \cdots$$

Similarly we have

$$1 + \frac{zf''(z)}{f'(z)} = 1 + 2a_2z + (6a_3 - 4a_2^2)z^2 + \cdots$$

and therefore

$$\left(1 + \frac{zf''(z)}{f'(z)}\right)^{\beta} = 1 + 2\beta a_2 z + \left(6\beta a_3 + 2(\beta^2 - 3\beta)a_2^2\right)z^2 + \cdots$$

Thus we have

$$\left(\frac{zf'(z)}{f(z)}\right)^{\alpha} \left(1 + \frac{zf''(z)}{f'(z)}\right)^{\beta}$$

= 1 + (\alpha + 2\beta)a_2z + \left[2(\alpha + 3\beta)a_3 + \frac{(\alpha + 2\beta)^2 - 3(\alpha + 4\beta)}{2}a_2^2\right]z^2 + \dots \left.

and in view of the equation (2.3), we see that

(2.5)
$$b_1 = (\alpha + 2\beta)a_2$$

(2.6) $b_2 = 2(\alpha + 3\beta)a_3 + \frac{(\alpha + 2\beta)^2 - 3(\alpha + 4\beta)}{2}a_2^2$

or, equivalently, we have

$$a_{2} = \frac{B_{1}c_{1}}{2(\alpha + 2\beta)},$$

$$a_{3} = \frac{1}{2(\alpha + 3\beta)} \left\{ \frac{B_{1}c_{2}}{2} - \frac{1}{4} \left[B_{1} - B_{2} + \frac{\left[(\alpha + 2\beta)^{2} - 3(\alpha + 4\beta) \right]}{2(\alpha + 2\beta)^{2}} B_{1}^{2} \right] c_{1}^{2} \right\}.$$

Therefore we have

(2.7)
$$a_3 - \mu a_2^2 = \frac{B_1}{4(\alpha + 3\beta)} \left\{ c_2 - v c_1^2 \right\}$$

where

$$v := \frac{1}{2} \left[1 - \frac{B_2}{B_1} + \frac{\left[(\alpha + 2\beta)^2 + 4\mu(\alpha + 3\beta) - 3(\alpha + 4\beta) \right]}{2(\alpha + 2\beta)^2} B_1 \right].$$

Our result now follows by an application of Lemma 1.1.

To show that the bounds are sharp, we define the functions $K_{\phi n}$ (n = 2, 3, ...) by

$$\left(\frac{zK'_{\phi n}(z)}{K_{\phi n}(z)}\right)^{\alpha} \left(1 + \frac{zK''_{\phi n}(z)}{K'_{\phi n}(z)}\right)^{\beta} = \phi(z^{n-1}), \quad K_{\phi n}(0) = 0 = [K_{\phi n}]'(0) - 1$$

and the function F_{λ} and $G_{\lambda} \; (0 \leq \lambda \leq 1)$ by

$$\left(\frac{zF_{\lambda}'(z)}{F_{\lambda}(z)}\right)^{\alpha} \left(1 + \frac{zF_{\lambda}''(z)}{F_{\lambda}'(z)}\right)^{\beta} = \phi\left(\frac{z(z+\lambda)}{1+\lambda z}\right), \quad F_{\lambda}(0) = 0 = F_{\lambda}'(0) - 1$$

and

$$\left(\frac{zG_{\lambda}'(z)}{G_{\lambda}(z)}\right)^{\alpha} \left(1 + \frac{zG_{\lambda}''(z)}{G_{\lambda}'(z)}\right)^{\beta} = \phi\left(-\frac{z(z+\lambda)}{1+\lambda z}\right), \quad G_{\lambda}(0) = 0 = G_{\lambda}'(0) - 1.$$

Clearly the functions $K_{\phi n}, F_{\lambda}, G_{\lambda} \in M_{\alpha,\beta}(\phi)$. Also we write $K_{\phi} := K_{\phi 2}$.

If $\mu < \sigma_1$ or $\mu > \sigma_2$, then the equality holds if and only if f is K_{ϕ} or one of its rotations. When $\sigma_1 < \mu < \sigma_2$, then the equality holds if and only if f is $K_{\phi3}$ or one of its rotations. If $\mu = \sigma_1$ then the equality holds if and only if f is F_{λ} or one of its rotations. If $\mu = \sigma_2$ then the equality holds if and only if f is G_{λ} or one of its rotations.

By making use of Lemma 1.2, we immediately obtain the following:

Theorem 2.2. Let f(z), $\phi(z)$ be as in Theorem 2.1. For complex μ , we have

$$|a_3 - \mu a_2^2| = \frac{B_1}{\alpha + 3\beta} \max\left\{1, \left|-\frac{B_2}{B_1} + \frac{\left[(\alpha + 2\beta)^2 + 4\mu(\alpha + 3\beta) - 3(\alpha + 4\beta)\right]}{2(\alpha + 2\beta)^2}B_1\right|\right\}.$$

The result is sharp.

Remark 2.1. The coefficient bounds for $|a_2|$ and $|a_3|$ are special cases of our Theorem 2.1.

3. APPLICATION TO FUNCTIONS DEFINED BY CONVOLUTION AND TO THE INVERSE FUNCTIONS

Let $g(z) = z + \sum_{n=2}^{\infty} g_n z^n (g_n > 0)$. Define $M_{\alpha,\beta}^g(\phi)$ to be the class of all functions f(z)such that $(f * g)(z) \in M_{\alpha,\beta}(\phi)$. Since $f(z) = z + \sum_{n=2}^{\infty} a_n z^n \in M_{\alpha,\beta}^g(\phi)$ if and only if $(f * g) = z + \sum_{n=2}^{\infty} g_n a_n z^n \in M_{\alpha,\beta}(\phi)$, we obtain the coefficient estimate for functions in the class $M_{\alpha,\beta}^g(\phi)$ from the corresponding estimate for functions in the class $M_{\alpha,\beta}(\phi)$. See [8] for more details.

Define the inverse function f^{-1} by

$$f^{-1}(f(z)) = z = f(f^{-1}(z)).$$

Then

(3.1)
$$f^{-1}(w) = w + \sum_{n=2}^{\infty} d_n w^n \quad (|w| < r_0),$$

where r_0 is greater than the radius of the Koebe domain for the class $M_{\alpha,\beta}(\phi)$.

Since $f^{-1}(f(z)) = z$, we have

$$a_2 + d_2 = 0$$

$$a_3 + 2a_2d_2 + d_3 = 0$$

and therefore we have

$$d_2 = -a_2 d_3 = -a_3 + 2a_2^2.$$

A computation now shows that

$$|d_3 - \mu d_2^2| = |a_3 - (2 - \mu)a_2^2|$$

and hence the Fekete-Szegö inequality for the inverse function follows from that of the function f(z). We omit the details.

REFERENCES

- R. M. ALI and V. SINGH, Coefficients of parabolic starlike functions of order ρ, in: *Computational Methods and Function Theory*, World Scientific, (1995), 23–36.
- [2] R. M. ALI, Coefficients of inverse of strongly starlike functions, *Bull. Malaysian Math. Sci. Soc.*, 26(2003), 63–71.
- [3] B. C. CARLSON and S. B. SHAFFER, Starlike and prestarlike hypergeometric functions, SIAM J. Math. Anal., 15(1984), 737–745.
- [4] A. W. GOODMAN, Uniformly convex functions, Ann. Polon. Math., 56(1991), 87–92.
- [5] W. MA and D. MINDA, A unified treatment of some special classes of univalent functions, in: *Proceedings of the Conference on Complex Analysis*, Z. Li, F. Ren, L. Yang, and S. Zhang (Eds.), Int. Press (1994), 157–169.
- [6] S. OWA and H. M. SRIVASTAVA, Univalent and starlike generalized hypergeometric functions, *Canad. J. Math.*, **39**(1987), 1057–1077.
- [7] S. OWA, On the distortion theorems I, *Kyungpook Math. J.*, 18(1978), 53–58.
- [8] V. RAVICHANDRAN, A. GANGADHARAN, M. DARUS, Fekete-Szegö inequality for certain class of Bazilevič functions, *preprint*.
- [9] F. RØNNING, Uniformly convex functions and a corresponding class of starlike functions, *Proc. Amer. Math. Soc.*, **118**(1993), 189–196.
- [10] H. M. SRIVASTAVA and A. K. MISHRA, Applications of fractional calculus to parabolic starlike and uniformly convex functions, *Computer Math. Appl.*, **39**(2000), 57–69.
- [11] H. M. SRIVASTAVA and S. OWA, An application of the fractional derivative, Math. Japon., 29(1984), 383–389.
- [12] H. M. SRIVASTAVA and S. OWA, Univalent functions, Fractional Calculus and Their Applications, Halsted Press/John Wiley and Songs, Chichester/New York, (1989).
- [13] V. RAVICHANDRAN, Y. POLOTOGLU, M. BOLCAL and A. SEN, Certain subclasses of starlike and convex functions of complex order, *preprint*.